PULSE(0 {Vin} {dlytime +simtime*(1-Square)} {timestep} {timestep} {.5/Freq-timestep} {1/Freq})

ACO

SINE(0 0.25 20k)
Vin2

SINE(0 0.25 19k)

Vsquarel

.options plotwinsize=0
.options method=gear |ca
.options numdgt=7

*¥16

umcyc/Freq+dlytime

lycyc/Freq*(1-Square)
p=(simtime-diytime)/ FFT

four {Freq} V(Vin) V(Vout)

+four {Freq} 4 V(Vout)

.tran 0 {simtime} {dlytime} {timestep}

.param Square=1

.param Vin=1

jacdec1k11g

KSA1015

1k5

e

1004
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R28 |C9
33k Ta30p
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AC {u(-prb)}

1N4004C

Q6
25€5200_k

R24

< AC{u(prb)}

b1

;step param prb list -1 1
.param prb=0

.meas tran out avg V(vout)*I(RLoad)
lib potentiometer_standard.lib
.include bootstrap_models.txt
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